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Multiplying and Dividing Powers of Ten Name:
Solve each problem. Answers
7 5.47 x 10° 2.36+ 10° N\
Thisisthe same as saying: Division is the same way. Only instead of 1
5.47 x (10 x 10 x 10 x 10) moving the decimal right, you move it left.
And because the base is 10 you can just move
the decimal 4 placesto the right to solve. 2
Y ou can al'so multiply a negative exponent,
which means the same thing. 3
5.47 x 10" = 54,700 2.36 x 10 = 2.36 + 10°
54700. 0236 4
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5.
1) 5.165+ 10° 2) 38x10°
6.
3) 48+10° 4) 7.7x10* .
8.
5) 3182+ 10° 6) 44.912x 10°
9.
7) 9.43-+10* 8) 1.7x10° 0
11.
9) 896+ 10" 10) 81.51 x 10?
12.
11) 641.628+ 10" 12) 7.2x10* i
14.
13) 253.248 + 10° 14) 755.63 x 10"
15.
15) 71.635 + 107 16) 395.58 x 10°
16.
17) 93.1+ 10° 18) 4.99 x 10° 1.
18.
19) 23.38+10° 20) 7.127 x 10°
19.
20.
1-10 [95[90[85[80[ 75| 70| 65| 60| 55 | 50
www.CommonCoreSheets.com 11-20|/45|40|35|30|25(20(15(10| 5| O




Multiplying and Dividing Powers of Ten Name: Answer Key
Solve each problem. Answers
7 5.47 x 10° 2.36+ 107 N\
Thisisthe same as saying: Division isthe same way. Only instead of 1 0.0005165
5.47 x (10 x 10 x 10 x 10) moving the decimal right, you move it left.
And because the base is 10 you can just move 338 000
the decimal 4 placesto the right to solve. 2 !
Y ou can al'so multiply a negative exponent,
which means the same thing. 3 0.0048
5.47 x 10" = 54,700 2.36 x 10 = 2.36 + 10°
77
54700. 0236 4
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5, 3.182
1) 5.165+ 10° 2) 38x10°
6. 449.12
3) 48+10° 4) 7.7x10 7. 0.000943
8. 1,700
5) 3182+ 10° 6) 44.912 x 10*
9. 0.896
7) 9.43+10° 8 1.7x10° o 8151
1. 64.1628
9) 896+ 10" 10) 81.51 x 102
1 72,000
. 1 4
11) 641.628 = 10 12) 7.2x10 13 0.253248
3 s 14 1,556,300
13) 253.248 + 10 14) 755.63 x 10
5. 0.71635
15 +10° 16 2
) 71.635+ 10 ) 395.58 x 10 s 39558
0.931
17) 93.1+ 10° 18) 4.99 x 10° 17
18, 499
19) 23.38+10° 20) 7.127x10°
) ) o 2338
20. 7,127
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